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9 100kN/mM##BZ % 1.00/ 000 ~ 245 138.37|3mZEBZB| - ~ - - -| 100kN/MZE#B 2% 1.00] 10.99 ~ 21.10 138.37|3m%i#B% % -~ - - -
ZThES 1.00] 2.45 ~ 10.24 100.00] Zhlist | 0.00 ~ 10.24] 291 15.55 ZTh LSt 1.00] 500 ~ 1099 100.00| #hlust | 500 ~ 21.10] 2.91 15.55
4 100kN/mM#%# 8% % 1.00/ 000 ~ 231 136.03|3mZ#BZD| - ~ - - -| 100kN/iZi#8 % % 1.00| 1057 ~ 19.73 136.03|3m%i#B% 5 -~ - - -
ZTh LS 1.00] 2.31 ~ 10.10 100.00] #h st 000 ~ 10.10] 2.43 12.99 Zh LS 1.00] 500 ~ 1057 100.00f Zh it | 500 ~ 19.73] 243 12.99
5 100kN/mM#%# 8% % 1.00/0.00 ~ 250 139.22|3mZ#BZRB| - ~ - - -| 100kN/iZi#8 % % 1.00| 1053 ~ 2145 139.22|3m%i#B% % -~ - - -
ZhLS 1.00] 250 ~ 10.29 100.00] #hList | 000 ~ 10.29] 2.71 14.48 Zh s 1.00] 500 ~ 1053 100.00| #hlust | 500 ~ 21.45| 2.71 14.48
6 100kN/mM#%#BZ % 1.00/ 000 ~ 1.17 117.70| 3mZ#BZ 5| - ~ - - -| 100kN/iZi#8 % % 1.00| 1055 ~ 14.30 117.70|3m%#B% % -~ - - -
ZThLS 1.00] 117 ~ 896 100.00] #hlist | 000 ~ 8.96] 2.16 11.54 Zh LS 1.00] 500 ~ 1055 100.00f Zh it | 500 ~ 14.30| 2.16 1154
7 100kN/mM#%# 8% % 1.00/ 000 ~ 234 136.47|3m%#B%%| 000 ~ 0.02| 3.01 16.12| 100kN/m%# 2% 1.00| 11.60 ~ 2157 136.47|3m%#B% 5| 20.00 ~ 2157| 3.01 16.12
ZTh LS 1.00] 2.34 ~ 10.12 100.00] #h st 002 ~ 10.12| 3.00 16.05 Zh LS 1.00] 500 ~ 11.60 100.00f #hlist | 5.00 ~ 20.00] 3.00 16.05
8 100kN/mM#%# 8% % 1.00/0.00 ~ 197 13047|3mZ#BZRB| - ~ - - -| 100kN/iZi#8 % % 1.00| 1053 ~ 18.01 130.47|3m%i#BZ % -~ - - -
ZhLS 1.00] 197 ~ 976 100.00] #hlist | 000 ~ 9.76] 2.36 12.62 Zh LS 1.00] 500 ~ 1053 100.00f Zh it | 500 ~ 18.01| 2.36 12.62
9 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 259 34.09] ZnList | 000 ~ 259| 2.51 13.45 Zzh st 1.00f 500 ~ 5.70 34.09| #nlis | 500 ~ 5.70( 251 13.45
10 100kN/mM##BZ % 1.00{0.00 ~ 254 139.92|3m%EHE %% -~ - - -| 100kN/ %8z % 1.00| 10.53 ~ 21.60 139.92|3m%E# %% -~ - - -
ZnLst 1.00] 2.54 ~ 10.33 100.00] Zh st | 0.00 ~ 10.33] 2.73 14.59 Zh st 1.00f 5.00 ~ 10.53 100.00f Z1List | 500 ~ 2160 273 14.59
11 100kN/mM##BZ % 1.00{0.00 ~ 2.26 135.20|3m%H8 %% -~ - - -| 100kN/ %8z % 1.00| 10.53 ~ 19.70 135.20|3m%E#B %% -~ - - -
ZnLst 1.00] 2.26 ~ 10.05 100.00| Zh1list | 0.00 ~ 10.05] 2.37 12.69 Zh st 1.00f 5.00 ~ 10.53 100.00f Z1List | 500 ~ 19.70| 2.37 12.69
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ ZhUs ~ Zh LS ~ Zh LS ~
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM%#E% % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZHNLS ~ ZThLLst ~ ZTHLS ~ |
=EFR



